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(1) FAERVCRBHE et oAy 2 EHHE OEEA
(2) FERVRBREAH SERE265E6 H20H
(3 R 34.5 T GEEICBITF2&IR 213 )
4) BHE 137.5  L/min ( BAHEE )
(6) HMEARBR M - R - JELR - MR
(6) pHI# 8.8 (Fi5 ABMmE)
() BRmER 134 mS/m (25°C)
® SKERNEHE - x10" ci/ke ( — ME/ke )
HEBREICBIT S RBRARE
(1) #AEE ket TAxV I ELE E
(2 W THEAH SER264ETHIH
(3) HMEMRBR HEEE - P - ENR - R GRBHRKSRRREIR)
(4 #EE 0. 9994 (20°C/4°C) g/cn’
(5) pHIAE 8. 60 (J 5 AEMIE)
(6) ZFEIEEY 1. 134 g/kg (180°C)
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s (mfz)7 (mval) \(mval%) e (m;zr)7 (mval) | (mval¥)
UFI L1 F > LY .1 - —| |&oMt#1 > ) 0.3 0. 02 0.12
F R U LAA 2 Na') 41.8 1.82 | 11.59 | [sEfesmr > C1) 43.4 .22 | 7.53
AV AALF T KD 0.9 0.02 0.13 | |B{k#-1 4> Br) 0.1 S -
7 ' AT (N, 0.1 - = &2 (1) 0. 1 - -
< T xR A1 Mgt 0.4 0.03 | 0.19 | |FifbksEr=> HS) 0.3 0.01 | 0.06
HIV ™ A F > (Ca?h) 976.9 | 13.82 | 88.03 | |meggr> (sH) 0. 1 — —
ZhaYFILLE > S 0.3 0.01 | 0.06 | |FAHEEL > (5,05 0. 1 — -
INU T AT 3> (Bat) <0. 1 - —| |wmr > 50 704.4 | 14.67 | 90.56
FII = A1 F T (1Y <0. 1 - —| |REEAZEA > HCO,) 12.5 0.20 | 1.23
<A A F > () 0.1 - —| |BeEE1 > (0,5 2.3 0.08 | 0.49
8 (1) 1 > (Fe’) <0. 1 — =
% () -1 > (Fe¥) 0.1 - —
BB+ &t 320.4 | 15.70 [ 100 BA+> & 763.4 | 16.20 | 100
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e (mg) (mmol) | ks (mg) (mmo1)
AX T WE (,5i0,) 93.5 0.30 Wl —BR Lk 3R (COy) 0.1 0.00
A% 1F 58 (HBO,) 0.7 0. 02 WEBERRAL K 3 (H,S) 0.1 .-
A% B (HAsO,) 0.1 — EEHNARS &t 0.1 0. 00
EMmEERSY &t 24. 9 0.32
BEWE 0 MO HDERL) 1. 108 g/ke VST e st 1. 108 g/ke
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#K R (He) 0. 0005 i
U (As) 0.01 kit
£ (Cu) 0.01 HRim
3 (Pb) 0.01 ki
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